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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten questions: 2x10=20
-] v 2o T wis ¢
a)  What is sensation?
AW PICF T 2
b)  What is stimulus?
o 2
c) Is pure sensation possible?
T sHecame 6 a2
d) What is the meaning of the word 'Gestalt?
‘PG5 FMH w1 5 2
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What is inattention?

SIS 1 2

Give the definition of learning.
[RiczCERRCARICE

Write an important characteristic of

personality.

g aais wwresld IR a9 |
What is 1.Q.?

2T FICP T2

What do you mean by mental age?
RS RT T F (I 2

Define memory.

S I 012

What are the different theories of learning?
el STei( ffen sroamafet i 62
What is illusion?

ST A GG Ao FICE AT 2

Mention the laws of association.
SRR ferRrefe] BrEe 79 |

What is introspection?

SGVHIel I A0 2
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0) Define insight.

GIEEICERINCRG Y
2. Answer any four questions: 5%x4=20

@I BTG eeas Ted wls ¢

a)  What is the reason of Illusion? Write the
difference between Illusion and Perception.
ST P9 F 2 S 8 G W #1274 |

b)  Briefly discuss the attributes of sensation.
FLCAMCR 4 A erelesfet AL ST 54 |

c) Briefly explain the scope of Psychology.
FRCCA NIEsIes #Aff it 41

d) Explain the causes of forgetfulness.
fergfon el = <91

e) What is an image? Distinguish between
percept and image.
fisziol 5 2 erorrsnol @ afsmea ey #iiefy ey
*q

f)  Differentiate between sub-conscious and un-
conscious.
e @ et ey o114 39|
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3. Answer any two questions: 10x2=20

@I 7o 2ea Ted wie ¢

a)

b)

d)
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Explain the experimental method of
Psychology. What are the disadvantages of this
method?

NIRRT A Aafoq R wie | @3 &fed
PRIl & 62

Explain the Weber-Fechnar law and mention

its defects.

SRR Cad [T F9 GR 9 Fof
T 4 |

Is personality a product of heredity or of

environment or of both? Discuss.

=

gfeyg T actafe At sifac 3t TeEws tedl?
SIS 9 |

Describe Thorndike's 'Trial and Error' theory
of learning. How does it differ from the

'insight theory of learning'?
T3 oS el ToifFe ‘Al 8 o FRENL

TSAMIG A 4 | eI 92 Toamls Treyiod
e el o (A fom e
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